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OB SN TVDLEIZHOES T LT, FHEELOMENLBH TS EEADT, TTABEVWET,

(A) smoke (B) smoked
(C) smoking (D) to smoke

OIS N TVDLEIZHOES E LT, FHEELORMENLBHTE EEADT, TTABEVWET,

(A) although (B) whether
(C) when (D) what

ZOFSICRHRBMENTVDXEICHET E LTIE, FHFHELOMENCHIRTE EEADT, TTHRBEVET,

(A) cut (B) be cut
(C) cutting (D) to cut

ZOFSICRHRBMEN TOVDXEIC ST E L TUE, HFHELOMEN OB TE EEADT, TTARBVET,

(A) repaired (B) having repaired
(C) being repaired (D) having been repaired



@ [7], H1DZNZROBE®RES LIS, FALRTNETRTOFEMEL AL T
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[7]
ZOFSITRHRMS N TODOXEIZOESE L TL, FEIFE LOMEN BB TEEEADOT, TTRBENES,
(A) are (B) important (C) convinced
(D) it (E) that (F) is
[1]

ZOWHCRBEN TV D LFCHX & LTI, FHELOMEN LB T HEAOT, STABVET,

(A) food (B) same (C) every

(D) tired (E) the (F) of having
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[7]

ZOFMICRMENTVDOXEICSE E L TE, EFHELOMENSCHBTEEEADOT, TTERBEVET,

[Adapted from “Population falls below 125 million, shrinking for 12th straight year,”
The Japan Times Weekend, April 16, 2023]

(A) As of (B) In
(C) With (D) From on




(A) to make a plan to carry out
(B) to establish a social system to cope with
(C) improving the environment of

(D) managing the situation forward

(A) that makes it
(B) which prohibit
(C) put in place
(D) keeping under

(A) was less populated
(B) became the most popular place
(C) lost its popularity

(D) saw its population increase

ZOEMMITHRM SN TS LEICHEE L TIL, EFELORENOERTEEEADT,

TTAREWE T,




[Adapted from James Gallagher, “Do you live in the world’s least active country?”,
BBC News, June 12, 2021]

1) obesity JEiH

(A) Tt also had one of the highest rates of obesity

(B) There was no difference between men and women in the number
of obese individual

(C) There was a gap between men and women in the rates of obesity

(D) It also had one of the lowest rates of obesity

(A) When activity inequality is greatest, men’s activity is reduced much more
dramatically than women’s activity, and thus the negative connections to
obesity can affect men more greatly

(B) When activity inequality is greatest, women’s activity is reduced much more
dramatically than men’s activity, and thus the negative connections to obesity
can affect women more greatly

(C) When activity inequality is smallest, women’s activity is reduced
much more dramatically than men’s activity, and thus the negative
connections to obesity can affect women more greatly

(D) When activity inequality is smallest, men’s activity is reduced much more
dramatically than women’s activity, and thus the negative connections to

obesity can affect men more greatly



@ MDY % iy, & ORMPITEZ LRIV,

COWMCEBEN TV LEIC X E LTE, SR LOMBIN LB TE FEADT, JTREVET,

[Adapted from Kathleen Benoza, “Around 40% of domestic tasks may
be automated in 10 years,” The Japan Times, April 13, 2023]




Which task is the least likely to be automated?

(A) grocery shopping
(B) banking
(C) care work

(D) cleaning

According to the study cited in the text, which is the correct opinion concerning
technology?

(A) Japanese tend to regard technology as a sort of helper in work.

(B) Technology is not regarded as a substitute for labor in the U.K.

(C) Technology made automation more possible in Japan than in the U.K.

(D) Elderly people no longer need to do unpaid jobs thanks to technology both in
Japan and in the U.K.

Which one of the following might happen if domestic work is automated?

(A) Men in Japan would be impacted more than men in the U.K.
(B) Men would do more work than woman.
(C) Women would be affected more than men.

(D) Women would spend more time on domestic work.



6 MOEL T, oL ORMITEZRIV,

ZOMATRHBMENTVWDHXEIZHOE E LTI, FIEELOMEN BB T EEADT, TTABNET,




O EIN TNWDILFEIZOETE L UL, FIEELOMENSEHETEEHAOT, TTHEBENET,

[Adapted from Matthew Syed, Black Box Thinking, Portfolio, 2015]

#) Unilever =1V —/ 3 (—ilfpA—5—) detergent ¥EHl disperse %3k
vapor 7% siphon W\ EiF% vat ¥ 7 hefty =D
markup FiJiE clog #% % grain & fEHL
fluid dynamics ¥ifk 715 delve fUEMIICFHI~NS
sophisticated =& THEMEZe  equation FFE granularity Fik, R
in desperation AEI(Z#IEVT groove J#

Which of the following is closest in meaning to the word “nuisance” in the context of

this passage?

(A) access (B) bother

(C) success (D) vacuum

Which of the following is closest in meaning to the word “crack” in the context of this

passage?
(A) ordinary (B) split
(C) excellent (D) terrible




Which of the following is closest in meaning to the word “optimal” in in the context of
this passage?

(A) ideal (B) offensive
(C) primitive (D) wrong

Choose the best pair of words to complete the sentences.

A) deep more
(B) entire less
© narrow less
(D) little more

Which of the following is true?

(A) At first, the team of mathematicians couldn’t create a better nozzle, but in the

end, these mathematicians managed to make an outstanding nozzle much better

than the original one.

(B) Although Unilever relied on the leading mathematicians, these mathematicians

could not solve the problem caused by the nozzle.

(C) Improving the quality of the nozzle was important for Unilever, and they created

a high-quality nozzle on the first try.

(D) Due to the negative influence of the nozzle, it wasn’t profitable to manufacture

detergent at their factory during the 1970s.
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